I. (30 points) Thévenin B

vivalent Cire uit,
cConsider the

Toll 'WINg circuit

3 kS2

— b.
2.0 l15 points] Find RTH between the terminals a L SR
. [10 points] Find V44 between the terminals a — b. Rem

ource.
[5 points] Deduce the power delivered by the 4 mA current s



- (30 points)

. Mesh Current Analysis.
Consider the following Circuit
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4. (20 points) Thévenin Equivalent,

Using source transformation,

inals a and b in
find the Thévenin equivalent voltage Vi between the termi
the following circuit.
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